
www.sigmatools.com.brSGT-5200 - VE
13/01/2025
Rev.: 001-AN

SGT-5200
 SERRA MÁRMORE PRO - 1300W

48

1
2

3
4

4.1

5
6

7
8

9

10

11

12

13

15

27

25

24
23

22
21

20
19 18

17

16

43
42

41
40

39
38

36 35

34
33

32
31

30
29

28

44

49

50

45

46

47

14

26

28.1

37

51

52

*

*Disco não incluso

Nº Código Descrição Nº Código Descrição
1 0754520001 DEFLETOR - SGT-5200 27 0754520027 ARRUELA PLANA - SGT-5200
2 0754520002 ANEL ORING (PC-02) - SGT-5200 28 0754520028 ROTOR 110V - SGT-5200
3 0754520003 PARAFUSO ST4.8×63 - SGT-5200 28.1 07545200281 ROTOR 220V - SGT-5200
4 0754520004 CONJUNTO DO ESTATOR 110V - SGT-5200 29 0754520029 CHAVETA - SGT-5200

4.1 07545200041 CONJUNTO DO ESTATOR 220V - SGT-5200 30 0754520030 ARRUELA - SGT-5200
5 0754520005 ARRUELA DE ISOLAMENTO - SGT-5200 31 0754520031 ANEL DE VEDAÇÃO - SGT-5200
6 0754520006 ROLAMENTO DE ESFERAS 608ZZ - SGT-5200 32 0754520032 ROLAMENTO DE ESFERAS 629RS - SGT-5200
7 0754520007 CAPA PROTETORA DO BOTAO TRAVA - SGT-5200 33 0754520033 ENGRENAGEM HELICOIDAL DE CONDUÇÃO - SGT-5200
8 0754520008 PUNHO - SGT-5200 34 0754520034 CAIXA DE ENGRENAGEM - SGT-5200
9 0754520009 CAPA DO INTERRUPTOR - SGT-5200 35 0754520035 ROLAMENTO DE ESFERAS 606ZZ - SGT-5200
10 0754520010 INTERRUPTOR - SGT-5200 36 0754520036 ENGRENAGEM - SGT-5200
11 0754520011 CARCAÇA DO MOTOR - SGT-5200 37 0754520037 EIXO DE ACIONAMENTO - SGT-5200
12 0754520012 PLACA DE IDENTIFICACAO - SGT-5200 38 0754520038 RETENTOR DE ROLAMENTO - SGT-5200
13 0754520013 PARAFUSO ST4.2×18 - SGT-5200 39 0754520039 ROLAMENTO DE ESFERAS 6002DDU - SGT-5200
14 0754520014 PARAFUSO M5-8 - SGT-5200 40 0754520040 ANEL DO ROLAMENTO - SGT-5200
15 0754520015 PARAFUSO M5×25 - SGT-5200 41 0754520041 SUPORTE DE ROLAMENTO - SGT-5200
16 0754520016 TAMPA PORTA ESCOVAS - SGT-5200 42 0754520042 ANEL ORING (PC-42) - SGT-5200
17 0754520017 ESCOVA DE CARVAO - SGT-5200 43 0754520043 FLANGE INTERNA - SGT-5200
18 0754520018 PORTA ESCOVA - SGT-5200 44 0754520044 PARAFUSO COM ARREULA E MOLA M5×25 - SGT-5200
19 0754520019 CABO DE ALIMENTACAO - SGT-5200 45 0754520045 PINO DE MOLA - SGT-5200
20 0754520020 PROTETOR DE CABO DE ALIMENTACAO - SGT-5200 46 0754520046 BASE - SGT-5200
21 0754520021 ALÍVIO DE TENSÃO - SGT-5200 47 0754520047 LUVA DO PARAFUSO - SGT-5200
22 0754520022 PARAFUSO COM ARRUELA ST4.2×16 - SGT-5200 48 0754520048 PARAFUSO DE REGULAGEM - SGT-5200
23 0754520023 INDUTOR - SGT-5200 49 0754520049 PARAFUSO DE FIXAÇÃO - SGT-5200
24 0754520024 CAPACITOR - SGT-5200 50 0754520050 FLANGE EXTERIOR - SGT-5200
25 0754520025 PINO DE BORRACHA - SGT-5200 51 0754520051 PARAFUSO COM ARRUELA E MOLA M4 15 - SGT-5200
26 0754520026 ARRUELA DO ROLAMENTO - SGT-5200 52 0754520052 ANEL TRAVA - SGT-5200


